

CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: GI-COO-56739-67aa3d2d8ebc0

VERIFY.FTGS.US Date: February 10, 2025

Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Type Vessel	Port of Loading LOS ANGELES	
Irvine CA USA	Destination Country China	Destination Port TianjinXingang	
Consignee INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY INNER MONGOLIA, 011500 China	Export Date 2025-01-31	Exporting Carrier N/A	
	Import Permit Number N/A	Bill of Lading / AWB 401510005858	
	Owner or Agent N/A	Forwarding Agent N/A	

Buyer (Importer)

INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY **INNER MONGOLIA, 011500** China

Remarks Total: 1,144bales Total: 476.755mt



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Alfalfa Hay	21.999mt	United States
Marks: EMCU1648459 52bales		
Alfalfa Hay	22.045mt	United States
Marks: TCNU1398872 52bales		
Alfalfa Hay	22.362mt	United States
Marks: EITU9224094 52bales		
Alfalfa Hay	22.326mt	United States
Marks: TXGU7476023 52bales		
Alfalfa Hay	21.564mt	United States
Marks: EMCU1822391 52bales		
Alfalfa Hay	21.482mt	United States
Marks: TXGU5591075 52bales		
Alfalfa Hay	22.063mt	United States
Marks: EMCU8589851 52bales		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

 -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.



CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: GI-COO-56739-67aa3d2d8ebc0

VERIFY.FTGS.US Date: February 10, 2025

Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Type Vessel	Port of Loading LOS ANGELES	
Irvine CA USA	Destination Country China	Destination Port TianjinXingang	
Consignee INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY INNER MONGOLIA, 011500 China	Export Date 2025-01-31	Exporting Carrier N/A	
	Import Permit Number N/A	Bill of Lading / AWB 401510005858	
	Owner or Agent N/A	Forwarding Agent N/A	

Buyer (Importer)

INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY **INNER MONGOLIA, 011500** China

Remarks Total: 1,144bales Total: 476.755mt



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Alfalfa Hay	22.117mt	United States
Marks: EGSU9678823 52bales		
Nfalfa Hay	22.163mt	United States
Marks: TXGU5851362 52bales		
Alfalfa Hay	20.802mt	United States
Marks: EMCU8761560 52bales		
Nfalfa Hay	22.072mt	United States
Marks: EMCU8528970 52bales		
Nfalfa Hay	21.455mt	United States
Marks: EMCU8930736 52bales		
Alfalfa Hay	21.854mt	United States
Marks: GAOU6465840 52bales		
Nfalfa Hay	21.791mt	United States
Marks: TRHU7250612 52bales		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- -The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing
- of any inaccuracy, omission or change in such information, or in the origin of goods.

 -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

 -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.



CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: GI-COO-56739-67aa3d2d8ebc0 **VERIFY.FTGS.US** Date: February 10, 2025

Seller (Exporter) Healthy Green Life Corporation	Transport Type Vessel Port of Loading LOS ANGELES		
43 Corporate Park Irvine CA USA	Destination Country China	Destination Port TianjinXingang	
Consignee INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY INNER MONGOLIA, 011500 China	Export Date 2025-01-31	Exporting Carrier N/A	
	Import Permit Number N/A	Bill of Lading / AWB 401510005858	
	Owner or Agent	Forwarding Agent	

Buyer (Importer)

INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY **INNER MONGOLIA, 011500** China

Remarks Total: 1,144bales Total: 476.755mt



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
lfalfa Hay	21.41mt	United States
Marks: EISU8570648 52bales		
Ifalfa Hay	21.419mt	United States
Marks: TRHU8103853 52bales		
lfalfa Hay	21.455mt	United States
Marks: TRHU8089668 52bales		
lfalfa Hay	21.21mt	United States
Marks: EMCU9958656 52bales		
lfalfa Hay	21.382mt	United States
Marks: FFAU4868895 52bales		
lfalfa Hay	20.548mt	United States
Marks: CAAU6811679 52bales		
lfalfa Hay	21.727mt	United States
Marks: TRHU5757892 52bales		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

 -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein

Transport Type Port of Loading Seller (Exporter) Vessel LOS ANGELES Healthy Green Life Corporation 43 Corporate Park **Destination Country Destination Port** Irvine China **TianjinXingang** CA USA **Export Date Exporting Carrier** N/A 2025-01-31 Consignee INNER MONGOLIA BEST HOLSTEINS CO., LTD Import Permit Number Bill of Lading / AWB HUTONGTU VILLAGE, SHENGLETOWN 401510005858 HELINGEER COUNTY INNER MONGOLIA, 011500 Owner or Agent Forwarding Agent China N/A N/A

VERIFY.FTGS.US

Buyer (Importer)

INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY **INNER MONGOLIA, 011500** China

Remarks Total: 1,144bales Total: 476.755mt



Description May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Ifalfa Hay	21.509mt	United States
farks: TIIU4282226 52bales		
======================================		
	N N MANAGER	



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- -The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

 -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in respect of any costs and/or claims made against GIC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein

-c00-56739-67aa3d2d8ebc0/February 10, 2025

Healthy Green Life Corporation 1152 S Roughcut Dr, Casa Grande, AZ 85194 USA

COMMERCIAL INVOICE

Invoice No.

BH-202501006-1

Date: 1/16/25

Shipper/Exporter:

Healthy Green Life Corp 1152 S Roughcut Dr Casa Grande, AZ 85194, USA Consignee:

INNER MONGOLIA BEST HOLSTEINS CO.,LTD

HUTONGTU VILLAGE, SHENGLE TOWN, HELINGEER COUNTY, INNER MONGOLIA

EVER MACH

1384-008W

Evergreen

Shipping Line: Port of Loading:

LOS ANGELES, CA

ETD:

Vessel:

Voyage No.:

1/31/25

Price Terms: CIF

Contract No.: BH-HGLC2024-8

Booking No.: 401510005858

Country of Origin: USA

Discharge: TianjinXingang, China

ETA: 3/8/25

Container No.	Seal #	Product	Bales	Net Weight (MT)	Unit Price USD/MT	Amount (USD)
CAAU6811679	02856008	Alfalfa Supremi	52	20.548	\$403.00	\$8,280.84
EGSU9678823	A1830536	Alfalfa Supremi	52	22.117	\$403.00	\$8,913.15
EISU8570648	02856047	Alfalfa Supremi	52	21.410	\$403.00	\$8,628.23
EITU9224094	A1830544	Alfalfa Supremi	52	22.362	\$403.00	\$9,011.89
EMCU1648459	A1830550	Alfalfa Supremi	52	21.999	\$403.00	\$8,865.60
EMCU1822391	A1830540	Alfalfa Supremi	52	21.564	\$403.00	\$8,690.29
EMCU8528970	A1830531	Alfalfa Supremi	52	22.072	\$403.00	\$8,895.02
EMCU8589851	UL5464006	Alfalfa Supremi	52	22.063	\$403.00	\$8,891.39
EMCU8761560	A1830534	Alfalfa Supremi	52	20.802	\$403.00	\$8,383.21
EMCU8930736	02856051	Alfalfa Supremi	52	21.455	\$403.00	\$8,646.36
EMCU9958656	02856454	Alfalfa Supremi	52	21.210	\$403.00	\$8,547.63
FFAU4868895	02856002	Alfalfa Supremi	52	21.382	\$403.00	\$8,616.95
GAOU6465840	02856052	Alfalfa Supremi	52	21.854	\$403.00	\$8,807.16
TCNU1398872	A1830545	Alfalfa Supremi	52	22.045	\$403.00	\$8,884.14
TIIU4282226	UL-5463880	Alfalfa Supremi	52	21.509	\$403.00	\$8,668.13
TRHU5757892	A1830600	Alfalfa Supremi	52	21.727	\$403.00	\$8,755.98
TRHU7250612	02856060	Alfalfa Supremi	52	21.791	\$403.00	\$8,781.77
TRHU8089668	02856452	Alfalfa Supremi	52	21.455	\$403.00	\$8,646.36
TRHU8103853	02856459	Alfalfa Supremi	52	21.419	\$403.00	\$8,631.86
TXGU5591075	A1830539	Alfalfa Supremi	52	21.482	\$403.00	\$8,657.25
TXGU5851362	A1830535	Alfalfa Supremi	52	22.163	\$403.00	\$8,931.69
TXGU7476023	A1830543	Alfalfa Supremi	52	22.326	\$403.00	\$8,997.38
Total Value:			1,144	476.755		\$192,132.28

Crude Protein

>=22

RFV

>=185

ASH

<=12

Moisture

<=14



Commodity

PACKING: FIT FOR OCEAN TRANSPORTATION AND NON WOOD PACKAGING, EACH BALE IS APPROX. 420-460KG

By Healthy Green Life Corporation

AUTHORIZED SIGNATURE



